

# FAMILIES OF FINITE SETS WITH MINIMUM SHADOWS

Z. FÜREDI and J. R. GRIGGS

*Received 10 January 1985*

The following problem was answered by a theorem of Kruskal, Katona, and Lindström about 20 years ago: Given a family of  $k$ -element sets  $\mathcal{F}$ ,  $|\mathcal{F}|=m$ , at least how many  $(k-d)$ -element subsets are contained in the members of  $\mathcal{F}$ ? This paper deals with the extremal families, e.g., they are completely described for infinitely many values of  $m$ .

## 1. Introduction

Let  $X$  be a finite set,  $k \geq g$  positive integers. Denote by  $\binom{X}{k}$  the family of all  $k$ -subsets of  $X$ , and  $2^X$  is the power-set. For a family  $\mathcal{F}$  we denote by  $d_{\mathcal{F}}(x)$  the degree of the element  $x$ , i.e.,  $d_{\mathcal{F}}(x) = |\{F \in \mathcal{F} : x \in F\}|$ . Let  $\mathcal{F}(x)$  and  $\mathcal{F}(\neg x)$  denote the subfamilies of  $\mathcal{F}$  as follows:  $\mathcal{F}(x) = \{F : x \in F \in \mathcal{F}\}$ ,  $\mathcal{F}(\neg x) = \mathcal{F} - \mathcal{F}(x)$ . For integers  $u$  and  $v$ ,  $\binom{u}{v}$  denotes the binomial coefficient, where  $\binom{u}{v} = 0$  except if  $u \geq v \geq 0$ . The  $g$ -shadow  $\Delta_g \mathcal{F}$  of the family  $\mathcal{F}$  is defined as  $\Delta_g \mathcal{F} = \{G : |G|=g, \exists F \in \mathcal{F} : G \subset F\}$ .

Kruskal [4], Katona [3], and Lindström [5], solved in the middle of the sixties the following problem: For a given family of  $k$ -element sets  $\mathcal{F}$ ,  $|\mathcal{F}|=m$ , at least how many  $(k-d)$ -element subsets are contained in the members of  $\mathcal{F}$ ? Denote by  $K(m, k, g) = \min \{|\Delta_g \mathcal{F}| : |\mathcal{F}|=m, \mathcal{F} \text{ is a family of } k\text{-subsets}\}$ . They proved that if  $m = \binom{a_k}{k} + \binom{a_{k-1}}{k-1} + \dots + \binom{a_s}{s}$  where  $a_k > a_{k-1} > \dots > a_s \geq s \geq 1$  are integers (the representation of  $m$  in this so called  $k$ -cascade form is unique), then  $K(m, k, k-d) = \binom{a_k}{k-d} + \binom{a_{k-1}}{k-1-d} + \dots + \binom{a_s}{s-d}$ . Call the family of  $k$ -subsets  $\mathcal{F}$   $(k, g)$ -extremal if  $|\Delta_g \mathcal{F}|$  is minimal.

Define the antilexicographical order of all  $k$ -subsets of positive integers as follows:  $A < B$  if considering the symmetric difference  $A \triangle B$  we have  $\max(A \triangle B) \in B$ . (E.g.,  $\{1, 2\} < \{1, 3\} < \{2, 3\} < \{1, 4\} < \dots$ ). Consider the first  $m$  members of this

ordering of  $k$ -sets. We obtain a family  $\mathcal{F} = \mathcal{F}(m, k)$  with

$$|\Delta_{k-a}\mathcal{F}| = \sum_{i \leq k} \binom{a_i}{i-d}.$$

(This can easily be seen because  $\mathcal{F}(m, k) = \left( \{1, 2, \dots, a_k\} \cup \left( \mathcal{F}\left(m - \binom{a_k}{k}, k-1\right) + \{a_k+1\} \right) \right)$  where  $\mathcal{H} + \{x\}$  denotes the family of sets of the form  $H \cup \{x\}$ ,  $H \in \mathcal{H}$ .) Hence, by the Kruskal—Katona—Lindström theorem,  $\mathcal{F}(m, k)$  is a  $(k, g)$ -extremal family for all  $g < k$ .

The aim of this paper is to investigate the extremal families. Especially, we prove that up to isomorphisms  $\mathcal{F}(m, k)$  is the only  $(k, g)$ -extremal family for infinitely many values of  $m$ . Later we will see other extremal families.

We have to mention a not so strong but much more applicable form of Kruskal—Katona—Lindström theorem due to Lovász [6] (Problem 13.31). Write  $m$  in the form  $\binom{x}{k}$ , where  $x \geq k$  is a real number  $\left(\binom{x}{k} = x(x-1)\dots(x-k+1)/k!\right)$ . Then  $K(m, k, g) \cong \binom{x}{g}$ . Recently, Frankl [2] gave a short, common proof for the original Kruskal—Katona—Lindström theorem and for the Lovász version.

## 2. Results

**Theorem 2.1.** *Let  $\mathcal{F}$  be a family of  $k$ -sets such that its  $g$ -shadow is minimal. Then its  $(g-1)$ -shadow is minimal as well.*

An obvious consequence of this theorem is that a  $(k, g)$ -extremal family is  $(k, 1)$ -extremal:

**Corollary 2.2.** *Let  $\mathcal{F}$  be a  $(k, g)$ -extremal family,  $|\mathcal{F}| \leq \binom{n}{k}$ . Then  $|\cup \mathcal{F}| \leq n$ . ■*

This implies that for  $m = \binom{n}{k}$  the only  $(k, g)$ -extremal families are the complete hypergraphs. Moreover the extremal hypergraph is unique in the cases  $m \leq k+1$  and  $m = \binom{n}{k} - 1$ . The function  $K(m, k, g)$  is monotone increasing in  $m$  for fixed  $k$  and  $g$ . Call  $m$  a *jumping number* (more exactly a  $(k, g)$ -jumping number) if  $K(m+1, k, g) > K(m, k, g)$ . E.g., the value  $m = \binom{n}{k}$  is a jumping number.

**Proposition 2.3.** *Write  $m$  in  $k$ -cascade form,  $m = \binom{a_k}{k} + \binom{a_{k-1}}{k-1} + \dots + \binom{a_s}{s}$ . Then  $m$  is  $(k, g)$ -jumping iff  $s > k - g$ .*

**Example 2.4.** Let  $m, k, g$  ( $k > g$ ) be given and let  $m'$  be the largest integer satisfying  $K(m', k, g) = K(m, k, g)$ . (This  $m' \geq m$  is always a jumping number.) Delete  $(m' - m)$  edges from  $\mathcal{F}(m', k)$  arbitrarily. We obtain a  $(k, g)$ -extremal family  $\mathcal{F}$ , because  $K(m, k, g) \leq |\Delta_g \mathcal{F}| \leq |\Delta_g \mathcal{F}(m', k)| = K(m', k, g) = K(m, k, g)$ .

**Proposition 2.5.** Let  $m > k + 1$ ,  $k \geq 2$ ,  $m \neq \binom{n}{k} - 1$ . If  $m$  is not a jumping number then Example 2.4 gives more than one non-isomorphic extremal families.

**Theorem 2.6.** Let  $m$  be a  $(k, g)$ -jumping number. Then the only  $(k, g)$ -extremal family is  $\mathcal{F}(m, k)$ .

### 3. Proof of Theorem 2.1

Let  $m$  be a positive integer and write

$$m = \sum_{s \leq i \leq k} \binom{a_i}{i} \quad \text{where} \quad a_k > a_{k-1} > \dots > a_s \geq s \geq 0.$$

We call this a *near- $k$ -cascade* form of  $m$ . The following simple Lemma says that instead of cascades we can use near-cascades for characterizing the  $(k, g)$ -extremal families (although the near-cascade form is not unique).

**Lemma 3.1.** Let  $m = \sum_{i \leq k} \binom{a_i}{i}$  be a near- $k$ -cascade form of  $m$ . Then  $K(m, k, k-d) = \sum_{i \leq k} \binom{a_i}{i-d}$ . ■

Let  $\mathcal{H} \subset \binom{X}{k}$  where  $X = \{1, 2, \dots, n\}$ . We recall the definition of the left-shifting operation  $S_{ij}: 2^X \rightarrow 2^X$ , where  $1 \leq i < j \leq n$ , which was introduced by Erdős, Ko and Rado [1]: For  $H \in \mathcal{H}$  set

$$S_{ij}(H) = \begin{cases} H - \{j\} \cup \{i\} & \text{if } i \notin H, j \in H \text{ and } H - \{j\} \cup \{i\} \notin \mathcal{H}, \\ H & \text{otherwise.} \end{cases}$$

Finally, let  $S_{ij}(\mathcal{H}) = \{S_{ij}(H) : H \in \mathcal{H}\}$ . This is well-known (cf., e.g., [3]):

**Proposition 3.2.**  $|S_{ij}(\mathcal{H})| = |\mathcal{H}|$ , and  $\Delta_g S_{ij}(\mathcal{H}) \subset S_{ij}(\Delta_g \mathcal{H})$  (i.e.,  $|\Delta_g S_{ij}(\mathcal{H})| \leq |\Delta_g(\mathcal{H})|$ ). ■

Call the family  $\mathcal{H}$  *1-shifted* if  $S_{1j}(\mathcal{H}) = \mathcal{H}$  for all  $2 \leq j \leq n$ . In other words

$$(1) \quad H \in \mathcal{H}, 1 \notin H, j \in H \text{ implies } H - \{j\} \cup \{1\} \in \mathcal{H}.$$

The idea of the following Proposition comes from the short proof of Frankl [2].

**Proposition 3.3.** Let  $\mathcal{H}$  be a  $(k, g)$ -extremal, 1-shifted family,  $|\mathcal{H}| = m = \binom{a_k}{k} + \dots + \binom{a_s}{s}$  (cascade form,  $s \geq 1$ ). Define  $\mathcal{H}_1 = \{H - \{1\} : 1 \in H \in \mathcal{H}\}$ . Then

$$(2) \quad |\Delta_t \mathcal{H}| = |\Delta_t \mathcal{H}_1| + |\Delta_{t-1} \mathcal{H}_1| \quad \text{for } 1 \leq t < k,$$

$$(3) \quad |\mathcal{H}_1| \geq \binom{a_k-1}{k-1} + \dots + \binom{a_s-1}{s-1},$$

$$(4) \quad |\Delta_g \mathcal{H}_1| = \binom{a_k-1}{g} + \dots + \binom{a_s-1}{s-(k-g)},$$

$$(5) \quad |\Delta_{g-1} \mathcal{H}_1| = \binom{a_k-1}{g-1} + \dots + \binom{a_s-1}{s-(k-g+1)}.$$

**Proof.** For any family  $\mathcal{F}$ , element  $x$ , and  $G \in \Delta_g \mathcal{F}$  we have either  $x \in G$  or not, hence

$$(6) \quad |\Delta_t \mathcal{F}| = |\Delta_t \mathcal{F}(\cap x) \cup \Delta_t(\mathcal{F}(x) - \{x\})| + |\Delta_{t-1}(\mathcal{F}(x) - \{x\})|.$$

Now consider the 1-shifted family  $\mathcal{H}$ , and let  $\mathcal{H}_0 = \mathcal{H}(\cap 1)$ ,  $\mathcal{H}_1 = \mathcal{H}(1) - \{1\}$ . Then (1) implies  $\mathcal{H}_1 \supset \Delta_{k-1} \mathcal{H}_0$ , hence

$$(7) \quad \Delta_t \mathcal{H}_1 \supset \Delta_t \mathcal{H}_0$$

holds for  $t \leq k-1$ . Using (6) we obtain (2).

To prove (3) suppose  $|\mathcal{H}_1| < \sum_{i \leq k} \binom{a_i-1}{i-1}$ . Then

$$(8) \quad |\mathcal{H}_0| = |\mathcal{H}| - |\mathcal{H}_1| > \sum_{i \leq k} \binom{a_i}{i} - \sum_{i \leq k} \binom{a_i-1}{i-1} = \sum_{i \leq k} \binom{a_i-1}{i}.$$

Here, although the right-hand side of (8) is not in cascade form, it implies

$$|\Delta_{k-1} \mathcal{H}_0| \geq \sum_{i \leq k} \binom{a_i-1}{i-1}.$$

Because  $|\mathcal{H}_1| \geq |\Delta_{k-1} \mathcal{H}_0|$ , by (7), it is a contradiction.

Now, Proposition 3.1 and (3) implies that

$$|\Delta_t \mathcal{H}_1| \geq \sum_{i \leq k} \binom{a_i-1}{i-(k-t)}$$

holds for  $t \leq k-1$ . To prove equality here for  $t=g$ ,  $g-1$  use the Kruskal—Katona—Lindström theorem, (2), and the  $(k, g)$ -extremality of  $\mathcal{H}$ :

$$\begin{aligned} K(m, k, g) &= \sum_{i \leq k} \binom{a_i}{i-(k-g)} = |\Delta_g \mathcal{H}| = |\Delta_g \mathcal{H}_1| + |\Delta_{g-1} \mathcal{H}_1| \\ &\geq \sum_{i \leq k} \binom{a_i-1}{i-(k-g)} + \sum_{i \leq k} \binom{a_i-1}{i-(k-g+1)} = \sum_{i \leq k} \binom{a_i}{i-(k-g)}. \quad \blacksquare \end{aligned}$$

We need one more Proposition.

**Proposition 3.4.** Let  $\mathcal{G} \subset \binom{S}{k}$ ,  $|\mathcal{G}| > 1$ ,  $|S| = s$ . Suppose  $x \in S$  has minimum degree, and denote  $\mathcal{A} = \mathcal{G}(\cap x)$ ,  $\mathcal{B} = \mathcal{G}(x) - \{x\}$ . Then  $|\Delta_{k-1} \mathcal{A}| \geq |\mathcal{B}|$ . Equality holds only if  $\mathcal{G} = \binom{S}{k}$ .

**Proof.** Clearly,

$$|\mathcal{B}| = \min_y d_{\mathcal{G}}(y) \leq \frac{1}{s} \sum_{y \in S} d_{\mathcal{G}}(y) = \frac{k}{s} |\mathcal{G}|,$$

i.e.,

$$(9) \quad |\mathcal{B}| \leq (k/s) |\mathcal{G}|,$$

and

$$(10) \quad |\mathcal{A}| \geq ((s-k)/s) |\mathcal{G}|.$$

Count the pairs  $(A', A)$ , where  $A \in \mathcal{A}$ ,  $A' \subset A$ ,  $|A'| = k-1$ . We get

$$k|\mathcal{A}| = \#(A', A) \leq ((s-1) - (k-1))|\Delta_{k-1}\mathcal{A}|.$$

This implies (using (10) and (9)):

$$|\Delta_{k-1}\mathcal{A}| \geq \frac{k}{s-k} |\mathcal{A}| \geq \frac{k}{s-k} \frac{s-k}{s} |\mathcal{G}| = \frac{k}{s} |\mathcal{G}| \geq |\mathcal{B}|.$$

Finally, the equality  $|\Delta_{k-1}\mathcal{A}| = |\mathcal{B}|$  implies  $k|\mathcal{A}| = (s-k)|\Delta_{k-1}\mathcal{A}|$  from which  $\mathcal{A} = \binom{S - \{x\}}{k}$  easily follows. ■

Now we are ready to prove Theorem 2.1. We use induction on  $m$  and  $k$ . The case  $m=1$  is trivial. Let  $\mathcal{F}$  be a  $(k, g)$ -extremal family,  $m, g \geq 2$ . Let  $S = \cup \mathcal{F}$ , and  $\mathcal{A}$  and  $\mathcal{B}$  defined by Proposition 3.4. (Clearly  $\mathcal{A}, \mathcal{B} \neq \emptyset$ ). Replace  $\mathcal{A}$  with a copy of  $\mathcal{F}(|\mathcal{A}|, k)$  and  $\mathcal{B}$  with  $\mathcal{F}(|\mathcal{B}|, k-1)$ . More exactly let  $\overline{\mathcal{F}}$  be a family of  $k$ -subsets of positive integers  $\overline{\mathcal{F}} = \overline{\mathcal{A}} \cup (\overline{\mathcal{B}} + \{z\})$ , where  $\overline{\mathcal{A}} = \mathcal{F}(|\mathcal{A}|, k)$ ,  $\overline{\mathcal{B}} = \mathcal{F}(|\mathcal{B}|, k-1)$ , and  $z = |\mathcal{A} \cup \overline{\mathcal{B}}| + 1$ . By the definition of the antilexicographical ordering  $\Delta_g \mathcal{F}(m, k) = \mathcal{F}(|\Delta_g \mathcal{F}(m, k)|, g)$ . Hence

$$(11) \quad \Delta_g \mathcal{A} \supset \Delta_g \overline{\mathcal{B}}$$

because  $|\Delta_{k-1}\mathcal{A}| \geq |\mathcal{B}|$  (by Proposition 3.4) and both  $\Delta_{k-1}\overline{\mathcal{A}}$  and  $\overline{\mathcal{B}}$  are initial segments of the antilexicographical ordering of  $(k-1)$ -element sets of positive numbers. Now apply the Kruskal—Katona—Lindström theorem, (11), (6), the Kruskal—Katona—Lindström theorem, and (6) again. We get

$$\begin{aligned} (12) \quad |\Delta_g \mathcal{A}| + |\Delta_{g-1} \mathcal{B}| &\geq K(|\mathcal{A}|, k, g) + K(|\mathcal{B}|, k-1, g-1) = |\Delta_g \overline{\mathcal{A}}| + |\Delta_{g-1} \overline{\mathcal{B}}| = \\ &= |\Delta_g \overline{\mathcal{A}} \cup \Delta_g \overline{\mathcal{B}}| + |\Delta_{g-1} \overline{\mathcal{B}}| = |\Delta_g \overline{\mathcal{F}}| \geq K(|\overline{\mathcal{F}}|, k, g) = |\Delta_g \mathcal{F}| = \\ &= |\Delta_g \mathcal{A} \cup \Delta_g \overline{\mathcal{B}}| + |\Delta_{g-1} \overline{\mathcal{B}}| \geq |\Delta_g \mathcal{A}| + |\Delta_{g-1} \mathcal{B}|. \end{aligned}$$

Hence equality holds throughout in (12), which yields:

$$(13) \quad |\Delta_g \mathcal{A}| = K(|\mathcal{A}|, k, g),$$

i.e.,  $\mathcal{A}$  is  $(k, g)$ -extremal,

$$(14) \quad |\Delta_{g-1} \mathcal{B}| = K(|\mathcal{B}|, k-1, g-1),$$

i.e.,  $\mathcal{B}$  is  $(k-1, g-1)$ -extremal,

$$(15) \quad \Delta_g \mathcal{A} \supset \Delta_g \mathcal{B},$$

$$(16) \quad |\Delta_g \overline{\mathcal{F}}| = |\Delta_g \mathcal{F}|,$$

i.e.,  $\overline{\mathcal{F}}$  is  $(k, g)$ -extremal.

Use the induction hypothesis for  $\mathcal{A}$  and  $\mathcal{B}$ . We get that  $\mathcal{A}$  is  $(k, g-1)$ - and  $\mathcal{B}$  is  $(k-1, g-2)$ -extremal. Equality in (12) yields that  $\Delta_g \mathcal{A} \supset \Delta_g \mathcal{B}$ , so that

$\Delta_{g-1}\mathcal{A} \supset \Delta_{g-1}\mathcal{B}$ . Hence by (6) we have

$$\begin{aligned}
 (16a) \quad |\Delta_{g-1}\mathcal{F}| &= |\Delta_{g-1}\mathcal{A} \cup \Delta_{g-1}\mathcal{B}| + |\Delta_{g-2}\mathcal{B}| = |\Delta_{g-1}\mathcal{A}| + |\Delta_{g-2}\mathcal{B}| = \\
 &= |\Delta_{g-1}\overline{\mathcal{A}}| + |\Delta_{g-2}\overline{\mathcal{B}}| = |\Delta_{g-1}\overline{\mathcal{A}} \cup \Delta_{g-1}\overline{\mathcal{B}}| + |\Delta_{g-2}\overline{\mathcal{B}}| = \\
 &= |\Delta_{g-1}\overline{\mathcal{F}}|.
 \end{aligned}$$

Thus we are done if we prove that  $\overline{\mathcal{F}}$  is  $(k, g-1)$ -extremal. Note that  $\overline{\mathcal{F}}$  is 1-shifted.

Denote  $\overline{\mathcal{F}}_0 = \overline{\mathcal{F}}(\cap 1)$ ,  $\overline{\mathcal{F}}_1 = \overline{\mathcal{F}}(1) - \{1\}$ . Let  $|\overline{\mathcal{F}}| = m = \sum_{i \leq k} \binom{a_i}{i}$  in  $k$ -cascade form.

Then by (4) and (5) we get that the family  $\Delta_g \overline{\mathcal{F}}_1$  is  $(g, g-1)$ -extremal. Use the induction hypothesis for  $\Delta_g \overline{\mathcal{F}}_1$  ( $g < k$ ). We obtain that it is  $(g, g-2)$ -extremal, i.e.,

$|\Delta_{g-2}\overline{\mathcal{F}}_1| = \sum_{i \leq k-2} \binom{a_i-1}{i-(k-g+2)}$ . Now applying (2) we have

$$\begin{aligned}
 |\Delta_{g-1}\overline{\mathcal{F}}| &= |\Delta_{g-1}\overline{\mathcal{F}}_1| + |\Delta_{g-2}\overline{\mathcal{F}}_1| \\
 &= \sum_{i \leq k} \binom{a_i-1}{i-(k-g+1)} + \sum_{i \leq k} \binom{a_i-1}{i-(k-g+2)} \\
 &= \sum_{i \leq k} \binom{a_i}{i-(k-g+1)} \\
 &= K(m, k, g-1).
 \end{aligned}$$

Hence  $\overline{\mathcal{F}}$  is a  $(k, g-1)$ -extremal family. ■

#### 4. Proofs of Propositions 2.3 and 2.5

**Proof of 2.3.** Trivial. ■

**Proof of 2.5.** Consider the hypergraphs  $\mathcal{F}(m+1, k) - \{E\}$  where  $E$  varies over all  $E \in \mathcal{F}(m+1, k)$ . We claim that there exist some two of them which are non-isomorphic.

**Lemma 4.1.** Suppose  $\mathcal{H} = \{E_1, \dots, E_m\}$ ,  $E_i \subset S$ ,  $|E_i| = k$  for all  $1 \leq i \leq m$  and let  $\mathcal{H}_i = \{E_j \in \mathcal{H} : 1 \leq j \leq k, j \neq i\}$ . Suppose that  $\mathcal{H}_i \cong \mathcal{H}_j$  for all  $i \neq j$ . Then there exists a partition  $k = n_1 + n_2 + \dots + n_t$  (for all  $n_i \geq 1$ ),  $S = S_1 \cup S_2 \cup \dots \cup S_t$  such that  $|E \cap S_i| = n_i$  for all  $i$  and  $E \in \mathcal{H}$ , and  $d_{\mathcal{H}}(x) = d_{\mathcal{H}}(y)$  for all  $x, y \in S_i$ .

**Proof.** Let  $d_1 < d_2 < \dots < d_t$  be the different values of  $d_{\mathcal{H}}(x)$ , and  $S_i = \{x \in S : d_{\mathcal{H}}(x) = d_i\}$ . The hypergraphs  $\mathcal{H}_i$  and  $\mathcal{H}_j$  have the same degree-sequence. ■

Now it is easy to see that the conclusions of Lemma 4.1 hold for  $\mathcal{H} = \mathcal{F}(m, k)$  only in the cases  $m \leq k+1$  and  $m = \binom{\eta}{k}$ . ■

## 5. Proof of Theorem 2.6

Let  $\mathcal{G}$  be a family of  $g$ -subsets of the  $n$ -element set  $S$ , and denote by  $\Delta^k \mathcal{G} = \{F \subset S: |F|=k, \exists G \in \mathcal{G} \text{ such that } G \subset F\}$ . Set  $f(m, n, k, g) = \min \{|\Delta^k \mathcal{G}|: \mathcal{G} \subset \binom{S}{g}, |\mathcal{G}|=m, |S|=n\}$ . We call the family  $\mathcal{G}$  *minimal* if  $|\Delta^k \mathcal{G}| = f(m, n, k, g)$ . Now we give a reformulation of Corollary 2.2 with this terminology:

**Corollary 2.2'.** Suppose  $\mathcal{G} \subset \binom{S}{g}$ ,  $|S|=n$ ,  $|\mathcal{G}|=m \leq \binom{n-1}{g-1}$  a minimal family. Then  $\cap \mathcal{G} \neq \emptyset$ .

**Proof of 2.2'.** For  $\mathcal{H} \subset \binom{S}{g}$  denote by  $\mathcal{H}^c$  the family of complements,  $\mathcal{H}^c = \{S-H: H \in \mathcal{H}\}$ . By definition  $(\Delta^k \mathcal{H})^c = \Delta_{n-k}(\mathcal{H}^c)$ . Hence for the minimal family  $\mathcal{G}$ ,

$$(17) \quad f(m, n, k, g) = |\Delta^k \mathcal{G}| = |(\Delta^k \mathcal{G})^c| = |\Delta_{n-k}(\mathcal{G}^c)| \cong K(m, n-g, n-k).$$

Indeed, in (17) equality holds because  $\mathcal{G}^c$  is an  $(n-g, n-k)$ -extremal family on  $n$  points, i.e.,  $\mathcal{G} \subset \binom{S}{g}$  is minimal iff  $\mathcal{G}^c \subset \binom{S}{n-g}$  is  $(n-g, n-k)$ -extremal.

Now  $|\mathcal{G}^c| \leq \binom{n-1}{g-1} = \binom{n-1}{n-g}$ , and  $\mathcal{G}^c$  is  $(n-g, n-k)$ -extremal, hence by Corollary 2.2 we have  $|\cup \mathcal{G}^c| \leq n-1$ . This implies  $\cap \mathcal{G} \neq \emptyset$ . ■

Now we are ready to prove Theorem 2.6. Let  $m = \sum_{s \leq i \leq k} \binom{a_i}{i}$ . Here  $s > k-g$  by Proposition 2.3. Consider a  $(k, g)$ -extremal family  $\mathcal{F}$ . We are going to prove that  $\mathcal{F} \cong \mathcal{F}(m, k)$ . We will use induction on  $k-s$ . If  $k-s=0$  then  $m = \binom{a}{k}$  and Corollary 2.2 implies  $|\cup \mathcal{F}| \leq a$ , i.e.,  $\mathcal{F} \cong \mathcal{F}\left(\binom{a}{k}, k\right)$ . From now on we suppose that  $k-s \geq 1$ .

By Corollary 2.2 we have  $|\cup \mathcal{F}| = a_k + 1$ . Define  $S = \cup \mathcal{F}$ ,  $\mathcal{G} = \left\{G \in \binom{S}{g}: G \not\subset F \text{ for every } F \in \mathcal{F}\right\}$ , i.e.,  $\mathcal{G} = \binom{S}{g} - \Delta_g \mathcal{F}$ . Clearly  $\Delta^k \mathcal{G} \cap \mathcal{F} = \emptyset$ . We claim

**Proposition 5.1.**  $\mathcal{G}$  is minimal.

**Proof.** Suppose on the contrary that there exists an  $\mathcal{H} \subset \binom{S}{g}$ ,  $|\mathcal{H}| = |\mathcal{G}|$ ,  $|\Delta^k \mathcal{H}| < |\Delta^k \mathcal{G}|$ . Then define  $\mathcal{F}' = \binom{S}{k} - \Delta^k \mathcal{H}$ . We have

$$(18) \quad |\Delta_g \mathcal{F}'| \leq \left| \binom{S}{g} - \mathcal{H} \right| = \left| \binom{S}{g} - \mathcal{G} \right| = |\Delta_g \mathcal{F}|,$$

$$(19) \quad |\mathcal{F}'| = \left| \binom{S}{k} \right| - |\Delta^k \mathcal{H}| > \left| \binom{S}{k} \right| - |\Delta^k \mathcal{G}| \cong |\mathcal{F}|.$$

Hence  $|\mathcal{F}'| > |\mathcal{F}|$  and its  $g$ -shadow is not larger. This is a contradiction, for  $m$  is a  $(k, g)$ -jumping number. ■

Since  $m$  is a  $(k, g)$ -jumping number, the argument above yields that  $\Delta^k \mathcal{G} \cup \cup \mathcal{F} = \binom{S}{k}$ . Now we apply Corollary 2.2' to  $\mathcal{G}$ . As  $|\Delta_g \mathcal{F}| > \binom{a_k}{g}$ , we have  $|\mathcal{G}| < \binom{a_k+1}{g} - \binom{a_k}{g} = \binom{a_k}{g-1} = \binom{|S|-1}{g-1}$ . We obtain that there exists a point  $x \in S$ , such that  $x \in G$  for all  $G \in \mathcal{G}$ . The equality  $\mathcal{F} = \binom{S}{k} - \Delta^k \mathcal{G}$  implies that  $\binom{S-\{x\}}{k} \subset \subset \mathcal{F}$ . Split  $\mathcal{F}$  into two parts,  $\mathcal{F} = \mathcal{F}(x) \cup \mathcal{F}(\neg x)$ , let  $\mathcal{B} = \mathcal{F}(x) - \{x\}$ . Then

$$(20) \quad |\mathcal{B}| = \binom{a_{k-1}}{k-1} + \dots + \binom{a_s}{s}$$

and

$$(21) \quad |\Delta_g \mathcal{F}| = \binom{a_k}{g} + \dots + \binom{a_s}{s-(k-g)} = |\Delta_g \mathcal{F}(\neg x)| + |\Delta_{g-1} \mathcal{B}| = \binom{a_k}{g} + |\Delta_{g-1} \mathcal{B}|.$$

Hence (20) and (21) imply that  $\mathcal{B}$  is a  $(k-1, g-1)$ -extremal family and  $|\mathcal{B}|$  is a  $(k-1, g-1)$ -jumping number. Applying the induction hypothesis for  $\mathcal{B}$  we get  $\mathcal{B} \cong \mathcal{F}(|\mathcal{B}|, k-1)$ , hence  $\mathcal{F} \cong \mathcal{F}(m, k)$ . ■

## 6. Remarks, problems

It seems that the simplest open problem is to describe those  $(k, k-1)$ -extremal families which are left-shifted.

**Proposition 6.1.** *If  $m = \sum_{i \leq k} \binom{a_i}{i}$  (cascade form) and  $\mathcal{H}$  is a 1-shifted  $(k, k-1)$ -extremal family, then  $|\mathcal{H}_0| = \sum_{i \leq k} \binom{a_i-1}{i}$ ,  $|\mathcal{H}_1| = \sum_{i \leq k} \binom{a_i-1}{i-1}$  and  $\mathcal{H}_1$  is a  $(k-1, k-2)$ -extremal family.*

**Proof.** (4) implies this trivially, because in this case  $\Delta_g \mathcal{H}_1 = \Delta_{k-1} \mathcal{H}_1 = \mathcal{H}_1$ . ■

**Example 6.2.** Let  $|S| = s+3$  ( $s \geq 4$ ),  $S_0 \subset S$ ,  $|S_0| = s$ . Define  $\mathcal{F} = \left\{ F \in \binom{S}{3} : |S \cap S_0| \cong \cong 2 \right\}$ . Then  $|\mathcal{F}| = \binom{s}{3} + 3 \binom{s}{2} = \binom{s+2}{3} + \binom{s-2}{2} + \binom{s-3}{1}$  and  $|\Delta_2 \mathcal{F}| = \binom{s}{2} + 3 \binom{s}{1} = \binom{s+2}{2} + \binom{s-2}{1} + 1$ . Hence  $\mathcal{F}$  is a  $(3, 2)$ -extremal family and it is not given by Example 2.4.

We recently learned that M. Mörs [7] has independently discovered results covered here by 2.2, 2.5, and 2.6. These are deduced from more general results so the arguments there are longer and more complicated than ours. Our Theorem 2.1 here is entirely new.



## References

- [1] P. ERDŐS, C. KO and R. RADO, Intersection theorems for systems of finite sets, *Quart. J. Math. Oxford (2)* **12** (1961), 313—320.
- [2] P. FRANKL, A new short proof for the Kruskal—Katona theorem, *Discrete Math.* **48** (1984), 327—329.
- [3] G. O. H. KATONA, A theorem of finite sets, in: *Theory of Graphs. Proc. Colloq. Tihany 1966* (Akadémiai Kiadó, 1968), 187—207.
- [4] J. B. KRUSKAL, The number of simplices in a complex, in: *Math. Opt. Techniques* (Univ. of Calif. Press, 1963), 251—278.
- [5] B. LINDSTRÖM and M. O. ZETTERSTRÖM, A combinatorial problem in the  $k$ -adic number system, *Proc. A. M. S.* **18** (1967), 165—170.
- [6] L. LOVÁSZ, *Combinatorial Problems and Exercises* (Akadémiai Kiadó, (Budapest)—North-Holland Publ. (Amsterdam), 1979). Problem 13. 31.
- [7] M. MÖRS, A generalization of a theorem of Kruskal, *Graphs and Combinatorics* **1** (1985), 167—183.

Z. Füredi

*Math. Inst. Hungarian Acad. Sci.*  
1364 Budapest, P.O.B. 127,  
Hungary

J. R. Griggs

*Department of Mathematics*  
*University of Southern California*  
*Los Angeles, California 90089—1113 U.S.A.*

*permanent address;*  
*Dept. Math. Stat.*  
*Univ. South Carolina*  
*Columbia, SC 29208 U.S.A.*